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By 3% A F044£04 7 16 H eI Dt e/ 84 (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]

xR & )l 10. 00 | #H%f 270 2, 700 1, 404 1, 208 756
TENS - 10. 00| FA % 528 5, 280 1,512 1,272 648

=gz w5 10. 00 | #H%f 1 10 2, 700
X D O 12. 00 | #H%f 270 3,240 1,350| 1,254 864
ESF AWII--N o JE 0. 20 | FH%f 1,115 223 130 120 86
e coolkaxr| 2 sl | 2,160
H & 5 H 3. 00| FHxf 288 864| 1,296 947 724
H A el 1. 00 | #H % 210 210 432 307 130
ENIEE 500 fxt| 24| 120 1,350 1,125] 810
5O o 4. 00| FH%f 12 48| 1,620 1,539| 1,404
B | sool#xr| e 24| 1,620| 1,494 1,296
A 5 2. 00 [ FH %} 311 622 864 740 486
= 5 4. 00 | FHxF 314 1,256 1,296] 1,138 972
= ;| 100 faxt | ssa| 1,536 1,620 1,205 864
[N w5 5. 00| FHxf 784 3,920 1,890 1,200 864
= ;| 500 fxt| 90| 450 1,620 1,452| 1,188
EZRIN ==— | 10. 00| fHxf 78 780 2,484 2,330 2,160
~7 b~ b = 3. 00 [ FH %} 74 222 1,512 1,492 1,296
R FoEk L 2. 00| FH%f 48 96| 2,160 1,737 540
H i (i 5. 00| FHxf 30 150 2,376| 2,304 2,160
FEEnE IS 10. 00| AHxf 214 2,140 3,564| 3,081| 2,646
A—=T 4 AbiEiE 10. 00| AHxf 40 400 2,268 1,674| 1,080
£ A L 10. 00| AHxf 403 4,030 5,918 2,804| 1,296
LA A e fE 10. 00 | #H%f 883 8,830| 2,160 1,901 864
P=—1F X & 4. 00| fHxf 620 2,480 1,728| 1,113 864
Ty al)— woE 6. 00 | FHf 76 456 3,024 2,613| 1,512
ENIE 6.00 Fxt| 34| 204| 2,700 2,497| 1,620

L xon & A 4. 00 | FHxF 5 20 3, 240
AEMEE w5 0. 10| fH%f | 3,800 380 140 117 65
ZDEH £ ¥ 0. 20 [ #Hx} 600 120 64 43 27
LU E % 0. 20 | FH %} 150 30 83 59 33
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A F044£04 7 16 H eI Dt e/ 18 ~ (Biir)
i 4 JE = Wae | %K F e T fE g2y ]
HEAM Fosk L 10. 00 | #H%F 13 130 2, 052
gElee | 10,00 Mxt|  s00| 5,000 27000 2,279 1,620
5 U H A& 10. 00| AHxf 664 6,640 4,104 3,481 1,080
Vafa—)L H O 10. 00 | Hx%f 4 40 4,374
HEBR D & [ 27| FEXE 2, 430 655 378 333 324
S X EF I 25| FHxf 7, 644 1,914 432 326 162
RIHD Y S ) 0. 25| FH*F 1, 396 350 313 251 151




